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5A-1

1) (X+4)(X+3)

2) (X + 1)(X + 2)

3) (X - 2)(X + 3)

4) (X - 6)(X - 5)

5) (X - V)(X + V)

6) (A - 9)(A + 9)

7) (2X + 3)(X -1)

8) (3X + 2)(X + 5)

9) (5X -1)(X + 3)

10) (4X + 1)(X + 5)

11) 2(X2 + 6X + 8) = 2(X + 2)(X + 4)

12) X(X2 + 6X + 9) = X(X + 3)(X + 3)

13) (A2 - 9)(A2 + 9) = (A - 3)(A + 3)(A2 + 9)

14) (X2 -16)(X2 - 1) = (?< - 4)(X + 4)(X - 1)(X+ 1)

15) 3X2 + 10X + 8 = 0
(3X + 4)(X + 2) = 0

3X + 4 = 0 X + 2 = 0
3X = -4 X=-2
X = -4/3

3(-4/3)2 + 10(-4/3) + 12 = 4
3(16/9) - 40/3 + 12 = 4 ..;

3(-2)2 + 10(-2) + 12 = 4
3(4) - 20 + 12 = 4 ..;

16) (X - 7)(X + 7) = 0
X-7=0 X+7=0
X=7 X=-7

(7)2- 49 = 0
0=0 ..;

(-7)2- 49 = 0
0=0 ..;

17) 2X4 - 72X2 = 0 => 2X2(X2 - 36) = 0
2X2(X - 6)(X + 6) = 0
X-6=0 X+6=0
X=6 X=-6

2X2=0, X = 0

2(6)4 = 72(6)2
2(1296) = 72(36) ..;

2(-6)4= 72(-6)2
2(1296) = 72(36) ..;

2(0)4 = 72(0)2
0=0 ..;

18) X4-26X2+25=0
(X2 - 1)(X2 - 25) = 0
(X - 1)(X + 1)(X - 5)(X + 5) = 0
X=1, X=-1, X=5, X=-5

(1)4- 26(1)2+ 27 = 2
1 - 26 + 27 = 2 ..;

(5)4 - 26(5)2 + 27 = 2
625 - 650 + 27 = 2 ..;

<,

5A-2

1) (X + 4)(X - 3)

2) (X - 4)(X - 6)

3) (X - 9)(X + 1)

4) (X+5)(X+2)

5) (5A - 5B)(5A + 5B) May be reduced to 25(A-B)(A+B)

6) (2X - 8)(2X + 8) or 4(X2 - 16) = 4(X - 4)(X + 4)

7) (3A + B)(A + B)

8) 2(3X + 2)(X - 1)

9) (2X - 5)(X + 3)

10) (3X - 4)(X + 8)

11) 2X(X2 + 6X + 8) = 2X(X + 2)(X + 4)

12) 3(A2 - 7A + 6) = 3(A - 1)(A - 6)

13) (X4 - 1)(X4 + 1) = (X - 1)(X + 1)(X2 + 1)(X4 + 1)

14) (X2 -9)(X2 -100) = (X-3)(X+3)(X-10)(X+10)

15) 2X(3X2 + 5X + 2) = 0
2X(3X + 2)(X + 1) = 0
3X + 2 = 0 X + 1 = 0
3X = -2 X =-1
X =-2/3 2X=0, X=O

6(-2/3)3 + 1O(-2/3)2 = -4(-2/3)
6(-8/27) + 10(4/9) = 8/3

-16/9 + 40/9 = 8/3 ..;

6(-1)3 + 10(-1)2 = -4(-1)
-6 + 10 = 4 ..;

6(0)3 + 10(0)2 = -4(0) ..;

16) 2(X2 - 4X - 12) = 0
2(X - 6)(X + 2) = 0
X-6=0 X+2=0
X=6 X =-2

2(6)2 - 8(6) -14 = 10
2(36) - 48 - 14 = 10 ..;

2(-2)2 - 8(-2) - 14 = 10
2(4)+16-14=10 ..;

17) X3-100X=0
X(X2 -100) = 0
X(X - 10)(X + 10) = 0
X-10=0 X+10=0
X=10 X=-10
X=O

(10)3- 50(10) = 50(10)
1000 - 500 = 500 ..;

(-10)3 - 50(-10) = 50(-10)
-1000 + 500 = -500 ..;

(0)3 - 50(0) = 50(0)
0-0=0";

18) A2- 16A + 28 = 0
(A - 2)(A - 14) = 0
A-2=0 A-14=0
A=2 A= 14

-8 = (2)2 - 16(2) + 20
-8 = 4 - 32 + 20 ..;

-8 = (14)2 - 16(14) + 20
-8 = 196 - 224 + 20 ..; (j)
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5B-1

2(X + 2) 6(X - 1) 3
1) + +--

(X - 1)(X+2) (X + 2)(X - 1) (X + 2)(X - 1)

2X + 4 + 6X - 6 + 3
X2 + X - 2

8X + 1
X2 + X - 2

2) X+2 _ X+2 = ~+2)-~X-2)
X-2 X+2 ~X-2)

(X + 2) - (X - 2) 4
X-2 --x-:-2

3(A + 1) 5(A)
3) A(A + 1) + (A + 1)(A)

8A + 3

A2 + A

3A + 3 + 5A

A2 + A

4) ~ _ ~ = 3X(X+2)-2X(X+3)
X + 3 X + 2 (X + 3)(X + 2)

3X2 + 6X - 2X2 - 6X
X2 + 5X + 6

X2

X2 + 5X + 6

57(X-3) -(4)(X+2) 2X+1
) (X + 2)(X - 3) + (X - 3)(X + 2)- (X + 2)(X - 3)

7X - 21 - 4X - 8 - 2X - 1

(X + 2)(X - 3)
X - 30

X2 -X-6

2X 8X(X - 2) 4(X + 2)
~ ~-~~+~+~+~~-~-~-~~+~

2X + 8X2 -16X-4X - 8
(X - 2)(X + 2) ,

8X2 - 18X - 8
X2-4

2 4X
X -x:;:3 ~ 8

~ ~ =~X+3) = X+3

~~

7)

8) 4 1 5 3
-+- -x-

2 2 2 16 15
= - 3218 2 J.6" %--- -x-

3 3 % ).8'

9)
2A 3
A A

4A - 4 1
--+--
A -1 A - 1

2A2 - 5A + 3

4A2 - 3A

10) X2 + 7X + 12
X,2+X-12

..-X.2 I 3X""+2"
~

~

2A - 3
-A-

A-1

4A - 3
-A-I

~
~
~

XL 9
X2 + 3X + 2

~

(X+3)~ ~(X+3)
~~ (X+2)(X+1)

11) XY_~
Y Y
XY 4
-+-Y Y
XY-5
XY + 4

XY-5
..::t-

X2 + 6X + 9
X2 + 3X + 2

.s-:
XY + 4

~
..)I-

..Y-

~

12)

J.l'-2)(X + 3) ~)(X - 4)
(X - 5)(5P6') tk""2)'(X - 5)

<,

XL X -12
X2 -10X + 25

5B-2

1 10(X-4) 3(X+4) 2
) (X + 4)(X- 4t (X - 4)(X + 4) - (X + 4)(X - 4)

10X-40+3X+12-2 13X-30
(X+4)(X-4) - X2-16

2) A + B + ~ = B(A + B) + 2A(A - B)
A - B B B(A - B)

AB + B2 + 2A2 - 2AB
B(A - B)

2A2 - AB + B2
AB - B2

15(X - 1) 20(X)
3) X(X _ 1) + (X - 1)(X)

35X -15

XLX

15X-15+20X

XLX

4) ~ _ ~= 4X-3Y
X+1 X+1 X+1

4(B - 5) (5)(B - 4) B - 5
5) + +--

(B - 4)(B - 5) (B - 5)(B - 4) (B - 5)(B - 4)

4B - 20 + 5B - 20 + B - 5
(B - 5)(B - 4)

10B - 45

B2 - 9B + 20

2X + 3 2X(2X) 3(2X + 3)
6) (2X)(2X + 3) + (2X + 3)(2X) + (2X)(2X + 3)

2X + 3 + 4X2 + 6X + 9
(2X)(2X + 3)

4X2 + 8X + 12
4X2 + 6X

2(2X2 + 4X + 6)
..t'(2X2 + 3X)

2X2 + 4X + 6
2X2 + 3X

A AB
B -;;:-:;:-B A28 A2

~ ~ =.Q.(A+B)= A+B

~~

7)

8) 9 1---
3 3
25 3
-+-
5 5

9) 4X + _1_
X X

5X + 5 X--+--X+1 X+1

4X2 + 5X + 1
6X2 + 5X

10) X2 + 4X - 5
X2 - 3X - 18

11) 3Y _~
3 3
4Y1---4 4
12Y- 8

12Y - 3

12) X4 -16
X2 - 5X + 4

~

~)(X2 + 4)~)(X + 7)
~(X-1) ~)

~5-x-
3 :Jfr7 _ 10

:Jfr % - 21
%x,25'

4X + 1 X + 1
-X- ~

~~
~~

X2 - 3X + 2
X2 + 4X + 3

3Y - 2
3

4
4Y -1

ft-"!
-4-

A-
ft-"!

X3 + 7X2 + 4X + 28
X-1

enQ.
S.
o·
::l
en
U1
OJ



5C

1) (X+4)(X+5)

2) (X - 4)(X - 5)

3) (X + 6)(X - 6)

4) (2X + 1)(2X + 3)

5) (3X + 2)(2X - 1)

6) (X-5)(X+4)

7) 10X2(2X2 + X - 3) = 10X2(2X + 3)(X - 1)

8) (X2 - 4)(X2 + 4) = (X + 2)(X - 2)(X2 + 4)

9) X2 - X - 6 = 0
(X - 3)(X+ 2) = 0
X=3 X =-2

(3)2 - (3) - 6 = 0
9-3-6=0 0=0 v'

(-2)2 - (-2) - 6 = 0
4+2-6=0 0=0 v'

10) X2 +4X -12=0 (-6)2 +4(-6) -12 =0
(X + 6)(X- 2) = 0 36 - 24 - 12 = 0 0 = 0 v'
X=-6 X=2

11 )
(X-1) 5
(X-1)X

5X - 5 - 4X
(X - 1)(X)

(2)2 + 4(2) - 12 = 0
4+8-12=0 0=0 v'

4 (X)
(X -1)(X)

X-5
(X - 1)(X)

12) (X-3) 3 _ 6 (X+2) +~
(X - 3)(X + 2) (X - 3)(X + 2) XL X - 6

3X-9-6X-12+4X

X2-X-6

X - 21

X2 -X-6

13) 1 +_1_
3

2
'It-. .~
~ "S..
~.~
~ ~

1
1 ---

3 ,

14) 4
3"K

N
~

~
X-5 4 4

~ =3(X-5) =3X-15

N

15) 3..J16 =3·4= 12

16) 6.[100.J3 = 6 ·10 .J3 = 60,[3

17) 7.[5~~
7.[5

=--
5

18) 2.[7 + 8.[11 =
.[7 .[7 .[11 .[11

2.[7 (11) 8.[11 (7)

7(Ti') + 11 (7)

22.fi + 56.[i1
77

3 1
19) (~x 103)('S..x 102)

(N' X 102)('K2X 10-3)
1 2

3 X 105
--- = 1,5 X 106

2 X 10-1

20) ~ 1

(X+2~= X+2

=2

50

1) (X + 4)(X - 1)

2) (X - 5)(X+ 3)

3) (X + 5)(X +2)

4) (X + 10)(X + 7)

5) (X - 6)(X - 7)

6) (5X - 4)(X + 1)

7) (3X - 2)(X + 5)

8) (3X -1)(3X + 1)

9) X2+13X+42=0 (-6)2+13(-6)+42=0
(X + 6)(X+ 7) = 0 36 - 78 + 42 = 0 0 = 0 v'
X=-6 X=-7

(-7)2 + 13 (-7) + 42 = 0
49 - 91 + 42 = 0 0 = 0 v'

10) X2-9=0 (-3)2_9=0
(X + 3)(X- 3) = 0 9 - 9 = 0 0 = 0 v'
X=-3 X=3

(3)2 - 9 = 0
9-9=0 0=0 v'

11) 2X(X) _~+~ =
V (X) X (V) V (X)

2X2 - 3V + 4X
XV

5 (X)
(X - 4)(X)

9 (X- 4)
X (X-4)

8X
+--- =

X2 -4X
12)

5X - (9X - 36) + 8X

X2 -4X

4X + 36

X2-4X

13) 2+_1_
2

5 ~
~·39
ss.. .~
'1l-... ~

20
395 __ 1-

8

14) (7)X
(7)

7X -1

-"7-
1
7

-::r-
1 -7X

1
7

X(7)
(7)

-::r-
~

t-Zll
-::r-

7X ~1 7X - 1
--=---= -1
1 -7X -(7X - 1)

15) .J6
3

16) 1.J6 =.J6 = .f6
5.J6.J6 5(6) 30

17) 7..J16..J5 = 7(4).[5 = 28.[5

18) 5.[fO + 4.[f3 = 'S..[fO +
.[fO.[fO .[f3.[f3 ts,

2

.[fO (13) 4 .[f3 (2)
2(1'3)+~

13 .fiO + 8 .J13
26

4.[f3 _
13 -

9
19) eN X 104)(~ x 103)

(1K2x101)
3

9 X 107 = 9 X 106
101

20) ~X-3) =~
~X+3) X+3

(f)
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6A 685E

1) (X + 6)(X - 4)
13) 4+_1_ ~o_3_ 1) 43 =64 1) 24 = 164 4 13 51- =-

6 - 1_2_ "ts.o'S... 52
2) X2 2) 21/62) (X + 9)(X + 1)

3 "'S... ~
3) 22 = 4 3) X3/43) (X - 5)(X - 2) 5X 2 5X + 2 3X14) -- +-- __ 0_-

163/4 =8 4) (_3)2/3=91/32 2 2 6X2 - 4 4)=
4) (8-X)(8+X) (3X)2X 4 6X2 - 4 3X

(3X) - 3X __ 0--
1 13X 6X2 - 4 5) -9- 5) -2-

5) (2X - 5)(X - 6) 15X2 + 6X
=

6) (~)3= _8_ 6) ~12X2 - 8
3 27 3

6) (3X - l)(X + 3)
.J5

7) 34 =814 I 7) 23 = 8
15)

~,M
= 4.J57) (4X - 3)(X - 4) ~ 8) XB 8) 82

16) 2.J1O =~.J1O =.J1O 9) 6 9) 5-1 __ 1_8) (X - 3)(X + 2)
- 51011'0 "Kl... 5

5 10) 92 =81
10) 91(2=39) 2X2 - 18X + 36 = 0 2(6)2 - 18(6) + 36 = 0

2(X2 - 9X + 18) = 0 72 - 108 + 36 = 0 0 = 0 v' 17) 9.f4.J1O = 9(2) .J1O= 18 .J1O 11) (X 1(2)1(2= X 1/4
11) [(X4)1(2]1(2=X2(X - 6)(X - 3) = 0

2(3)2 - 18(3) + 36 = 0X=6 X=3
18 - 54 + 36 = 0 0 = 0 v' 18) 6.f7 + 9..J5 12) [(125)1/3]2=52=25

12) [(64)1/3]4= 44 = 256=.f7 .f7 .[5 ..J5
13) (85)1/3=85/3

13) (85)1/3= 85/3 =25 =3210) 9XL 24X + 16 = 0 9(4/3)2 - 24(4/3) + 16 = 0 6 .f7 (5) 9..J5 (7) _
(3X - 4)(3X - 4) = 0 16 - 32 + 16 = 0 0 = 0 v' ~+ 5 (7) -

14) (641/3) 1(2= 41(2= 2
14) (161/4)1(2= 21(2or...J2X=4/3

30.f7 + 63 .[5
35 15) (361(2)3 = 63 = 216 15) (491(2)2=49

11) (V) (X -3) X-2(X)

(251(2)1(2= 51(2or$
(A8)1/4=A2(V) 2X - 2V (X) =

2 2 16) 16)
V(X - 3) - X(X - 2) = XV - 3V - X2 + 2X 19) (~x 103)~X 10-5)

= 17) [(64)1~r3 = 64-1(2 =.!. [(216)1/3r2 = 6-2 =...:!...(1'S.x 105)(,&x 108)
17)2XV 2XV 8 361 1

4 X 10-2 10-15 18) (811/4)1(2= 31(2or,f3
18) (1001(2)1(2=101(2or../fO--- =4x

12)
8X - 2 (X + 2)(X+ 2) 1 X 1013

CJ)
=

X2 + 5X + 6 (X + 3)(X + 2)
[(A16)1(2]1(2=A4 (811(2)1(2=91(2 =3

Q.19) 19) S-8X - 2 - X2 - 4X -,4 _X2+ 4X - 6 ~X+5) X+5 o·20)
:::J

= =--
(81/3)5= 25 = 32 (321/5)4= 24 = 16 CJ)X2 + 5X + 6 X2 + 5X + 6 ~(X+2) X+2 20) 20)

(J1

men
OJ


